Compound Interest.

1. Jenna invests £350 in her bank for 3 years at an interest rate of 4% p.a.  How much money will she have in her account after the 3 years?

2. Stevie invests £200 in her bank for at an interest rate of 7% p.a.  How much money will Stevie have after 2 years?

3. Siobhan wins some money on the lotto.  She decides to invest it in the bank.  She invests £1500 for 4 years at 3% p.a.

(a) How much will Siobhan have in the bank after the 4 years?

(b) How much compound interest has she earned?

4. Jake inherits £950.  He puts it in the bank which is paying interest at a rate of 6% p.a.  He leaves it there for 5 years.  

(a) How much will Jake have in his account after the 5 years?

(b) How much compound interest has he earned?

5. Craig decides to start saving for a new car.  He has £2000.  He puts it in the bank that pays 6% interest in year one, 4% in year two and 3% in year three.   How much money will he have if he withdraws all the money after year 3?

6. Margaret has £2100.  She puts it in the bank.  In years 1 and 2 the bank pays 5% interest p.a.  In year 3 it paid 3% and in year 4 it only paid 1%.  How much money did Margaret have after 4 years?

7. Mr and Mrs Anderson want to save up for a new conservatory.  They have £3000 already but decide to put it in the bank.  Their bank pays 3% interest in year 1 and 5% interest in year 2.  If the conservatory costs £3500 will they have enough by the end of year 2?  Explain your answer.

8. Shelagh borrows £120,000 for a new house.  The annual interest rate is 4%.  How much will she still owe at the end of 3 years if she makes a payment of £3500 at the end of year 1 and year 2?
